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HM7|kt 16,718CH(27.4% 1, AL %|11), =KXt 53CH(55.9%)
- E%%ﬂi—‘:— olo] @ Y5EV(5,071th), 14%EV(4,2 stl), EV6(4,189), T4+
HEV(4,1251), ©}0] @ YUHEV(3,670t)) 5°] &= Z7F A
O #%%@1% x471 Tz} 6.1@4%(04141 Hu)E 7153 AA &=}
FEAN] 297% AA - FEVI e A
< 21.108 HBK} FE =5 ¥ > 9l - o, %
T = 21.10¥ HMed |MHESEH| | '21.1-108 | MEASIH|
ot A 38,538 10.3 32.9 317,602 415
10| E(HEV) 17,993 A1.0 29.1 169,293 64.9
M 7| XHEV) 16,718 19.5 27.4 116,794 17.7
E{19I3510| 22| E(PHEV) 3,774 37.7 97.7 30,570 40.7
2= A XHFCEV) 53 165.0 55.9 945 5.1

* AR SEARS A el
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&1l 5

102 AME XiSK W T o

< 21108 QR XS U BOf HE >
o, %)
= 21.10E M-S 3| 21.1-10¢ =7|H|
& Al 125,296 -21.4 1,428,226 -7.9
& o 57,813 -12.0 598,655 -7.8
7| o} 37,837 -21.2 441,185 -4.7
Sh= XA 2,493 -64.7 49,156 -26.8
4 2 3,279 -56.9 44 276 -36.9
LA 5,002 -30.0 47,805 -40.8
EtEICH < 677 118.4 5,550 92.6
BMW 4,824 -9.3 57,265 21.6
Mercedes—Benz 3,623 —-44.9 65,855 9.5
Audi 2,639 4.4 18,560 -4.8
Volvo 1,125 -22.4 12,318 21.0
Jeep 750 -20.0 8,700 27.6
Volkswagen 719 -62.8 12,534 2.7
MINI 701 -21.2 9,675 5.0
Lexus 656 —24.7 8,128 22.8
Honda 526 69.1 3,571 50.2
Toyota 521 -5.8 5,332 10.6
Porsche 512 106.5 7,723 17.7
Ford 502 0.8 5,008 -11.8
Land Rover 327 7.2 2,556 -29.7
Peugeot 250 40.4 1,917 -6.3
Lincoln 195 -57.0 2,897 141
Citroen 104 131.1 524 -33.2
Cadillac 92 -40.3 904 -20.7
Maserati 57 -1.7 654 -1.5
Lamborghini 33 17.9 317 24.3
Bentley 17 13.3 390 71.1
Rolls—Royce 12 -20.0 193 47 .3
Jaguar 7 -85.1 289 -49.8
Infiniti - - -100.0
Nissan - - -100.0
Tesla 3 -96.6 16,289 53.6
= &K} 106,263 -21.0 1,175,936 -10.9
A X} 19,033 -23.5 252,290 9.6
fE N SRS, xS XHE 3]

* = ibAF S, Z[0f ot=KIY, EE, Exad, EEHS
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&1l 6 Mg SEX W T o
< 21.108 MY SEXt ILTOf =g >
(EHRI - O, %)

Sl 21,10 2| dHASdd | H|=S 211108 | MAS7|H|

e A 111,380 11.2 -19.4] 100.0 1,237,024 -8.6
= 48,700 41.9 -5.6 43.7 468,954 -9.3
7| o} 34,008 5.7 -19.2 30.5 389,610 -4.6
Sk X[ 2,493 -35.6 -61.2 2.2 45,680 —26.2
&4 = 3,279 -15.0 -56.9 2.9 44,276 -36.9
ELAM 4,705 9.2 -33.0 4.2 46,905 -40.6
BMW 4,824 -2.4 -9.3 4.3 57,265 21.6
Mercedes—Benz 3,623 -42.0 -44.9 3.3 65,855 9.5
Audi 2,639 129.5 4.4 2.4 18,560 -4.8
Volvo 1,125 -10.6 -22.4 1.0 12,318 21.0
Jeep 750 26.7 -20.0 0.7 8,700 27.6
Volkswagen 719 -12.0 -62.8 0.6 12,534 2.7
MINI 701 =27 .1 -21.2 0.6 9,675 5.0
Lexus 656 1.9 -24.7 0.6 8,128 22.8
Honda 526 2.5 69.1 0.5 3,571 50.2
Toyota 521 19.5 -5.8 0.5 5,332 10.6
Porsche 512 4.5 106.5 0.5 7,723 17.7
Ford 502 69.6 0.8 0.5 5,008 -11.8
Land Rover 327 14.3 7.2 0.3 2,556 -29.7
Peugeot 250 15.2 40.4 0.2 1,917 -6.3
Lincoln 195 18.9 -57.0 0.2 2,897 14.1
Citroen 104 22.4 131.1 0.1 524 -33.2
Cadillac 92 -8.0 -40.3 0.1 904 -20.7
Maserati 57 14.0 -1.7 0.1 654 -1.5
Lamborghini 33 -2.9 17.9 0.0 317 24.3
Bentley 17 -73.8 13.3 0.0 390 71.1
Rolls—Royce 12 -40.0 -20.0 0.0 193 47.3
Jaguar 7 -56.3 -85.1 0.0 289 -49.8
Infiniti 0 0.0 0 -100.0
Nissan 0 0.0 0 -100.0
Tesla 3 -99.9 -96.6 0.0 16,289 53.6
= AFXL 92,644 19.5 -13.1 83.2 985,634 -5.9
Lol x} 13,912 -21.2 -46.9 12.5 194,125 —24.8
*E N oEASAHH YRR, stE At S ALY
* AKE 0, 7|0 oh=X|Y, A8, 2 ad(570AD

Of ESXZ 0l THotO XHMIE 2SS JASAIY ALSAXE NSt 08

335 SSXHE XR0I18512

2 2 2 (B044-203-4323) O |

EQ¥MJIﬂ5

LICE.
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